Write your group’s generation 4 numbers on the class chart.

Question/ Analysis

1. Were you surprised by the potential population size that you calculated?  Does this really happen??

2. If a single green pepper can produce such a large population, why are we not “knee-deep in peppers”? (Why do we not see huge populations of them covering the planet?) hint: Do all seeds germinate to produce the expected number of plants? Does each plant produce the expected number of peppers?

3. Did all the peppers contain the same number of seeds? Why might this variation be important?

4. What other types of variation might be important in determining which peppers will survive and reproduce?

